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=] %0 m 162,657 794 154,313 949
= P iz} 7,533 101 7,533 100.0
Z = M 8384 49 8384 100.0
] i3] 21,978 162 20,854 949
T 1% M 12,408 128 11,798 95.1
A I i3] 11,042 8 11,042 100.0
B ES M 10,149 96 9,947 980
T & B K @ 7,385 56 7,355 996
m 5 + @ 16,573 168 16,573 100.0
£y 3] i3] 14,702 102 13,323 906
& M 13,009 176 12,627 Q7.1
3 s & 1,463 40 1,463 100.0
= ¥ A @ 1,709 20 1,613 944
23] % & 1,306 12 1,306 100.0
Z 2| 8y 1,294 31 1,294 100.0
bl J|| 3] 630 13 630 100.0
23 B8 3] 425 6 425 100.0
= i} ) 1,722 34 1,722 100.0
Z:N W 8y 1,880 22 1,880 100.0
X 2 i} 2,188 41 2,142 979
T 1% 8y 1,940 39 1,924 99.2
X J|| 3] 226 1 226 100.0
A D il 10,648 130 10,542 99.0
Z % N m 3,020 102 2,957 979
b * & 3324 68 3,303 90904
(G J|| i} 5969 94 5,654 o477
(2] 0 8y 2,857 51 2,766 06.8
5 R & 1,790 6 1,790 100.0
8 =) 3] 2,432 51 2,271 034
=2 % & 2,670 71 2670 100.0
m 5 + @ 8523 87 8,523 100.0
X A 2,654 34 2,654 100.0
= R 3] 775 14 775 100.0
= 3 & 5519 65 5519 100.0
51 (H30.4.1) 350,784 2,872 337,798 96.3
2E 1 51(H294.1) 351,024 2,836 333,343 950
& 1 51(H284.1) 351,571 2,773 328,062 933
2L 51 H274.1) 351,079 2,735 325,456 Q2.7
2E 1 51(H26.4.1) 350,837 2575 318,049 Q0.7
& 1 51(H254.1) 350,867 2,410 292,396 833
2L 1 51(H24.4.1) 348910 2,186 260,800 N
ZE 1 51(H234.1) 348,793 2,048 236,097 7.7
2L 1 51H224.1) 347,793 1,922 224,527 646
2L 51 H21.4.1) 346,918 1,726 205,848 593
2E ! 51(H204.1) 346,321 1,525 185,773 536
& 51 (H194.1) 345,761 1,426 162,750 471
& 1 51(H184.1) 345,184 1,161 140,317 406
ZE 5t H174.1) 343,143 878 111,847 326




